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 Block 20,22 and 25 

I. Fill in the blanks 

 

i) The answer in addition is called _______________ 

ii) We need ____________ to buy things from the market. 

iii) ₹5 = _________ Paise 

iv) 8 + ____ = 15 

v) The process of taking away a part of something is called _____________ 

 

 

II. Solve using Column method  

 

80 – 45 =   10 + 59 =   
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III. Show 2 different ways of making the given amount. 
 

i) ₹48  

 

 

 

 

 

 

ii) ₹86 

 

 

 

 

 

 

IV. Solve the following Story Problems. 

 

 
a) Arjun bought a pen for Rs 25.50 and a chocolate for Rs 12. How much does he pay altogether? 
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b) Mohammed’s mother gave him Rs 50 as a birthday gift. He bought a cake for Rs 24 and a pair of 

balloons for Rs 12. How much change will he get after paying the shopkeeper? 

 

 

 

 

 

 

 

 

 

c) A shopkeeper has 56 chocolates in a box. 23 were dark chocolates, 13 were white chocolates and the 

remaining were milk chocolates. How many milk chocolates are in the box? 

 

 

 

 

 

 

 

 

d) Make an subtraction  story problem using numbers 32 and 16 and solve the problem by any method. 
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V) Match the following:  

 

a) 45 – 33                                30 

b) 53 + 7                                  12 

c) 35 - 5                                   27  

d) 32 + 9                                  41 

 

VI) Write the total value.  

 

a. ₹50 + ₹50 + ₹5 + 50p + 50p = ____________  

b. ₹50 + ₹20 + ₹5 + ₹2 + ₹1 = __________ 

 

VII) How many 25 Paise coins make 2 Rs. Draw and show. 

 

 

 

 

 

 

 

 

 

 

 

 

VIII) 45 + _______ = 58. Use appropriate method to fill in the blanks. 
  

 

 

 

 

 

 


